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1. ¤fl¬øÈ¬ Œ˘±fl¬ ¤fl¬øÈ¬ Âøıı˛ øÀfl¬ Œø‡À ˛̊ ı˘À˘Ú,
ëëÂøıı˛ ̃ ø˝˘± ’±˜±ı˛ ̃ ±À ˛̊ı˛ ù´qı˛̃ ˙± ◊̋-¤ı˛ ¤fl¬˜±S ¬Û≈ÀSı˛
fl¬Ú…±/íí ˜ø˝˘± ı…øMêøÈ¬ı˛ Œfl¬ ˝Ú∑
Ans: Œı±Ú

1. A man pointing to a photograph says, “She
is the daughter of the only son of the father-in-law
of my mother.” How is the lady in the picture
related to that man?
Ans: Sister

2. √õ∂ùüÀı±Òfl¬ ø‰¬À˝êı˛ ¶ö±ÀÚ fl¬œ ı¸Àı∑
J, L, N, P, R, T, ?

Ans: V

2. Which letter will appear in the missing
place of following letter-series?

J, L, N, P, R, T, ?
Ans: V

3. Œfl¬±Ú ¤fl¬øÈ¬˜±S ’é¬ı˛ ÚœÀ‰¬ı˛ √õ∂ÀÓ¬…fl¬øÈ¬ ̇ Àsı˛ ¬ÛÀı˛
ıÀ¸ √õ∂øÓ¬øÈ¬ Œé¬ÀS ’Ô«¬Û”Ì« ˙s ΔÓ¬øı˛ fl¬ı˛Àı∑

HAT, BAR, BAT, PIN, BATH
Ans: E

3. Name a single letter that can be suffixed to
the following words to form new words?

HAT, BAR, BAT, PIN, BATH
Ans: E
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6. fl¬Ó¬ÊÚ Â±S Physics ¤ı— Mathematics øÚÀ ˛̊
¬ÛÀh¬ øfl¬c Chemistry øÚÀ ˛̊ ¬ÛÀh¬ Ú±∑
Ans: 19

6. What is the number of student that study
Physics and Mathematics but not Chemistry?
Ans: 19

5. fl¬Ó¬ÊÚ Â±S øÓ¬ÚøÈ¬ øı ∏̄̊ ˛ øÚÀ ˛̊̋ ◊ ¬Ûh¬±qÚ± fl¬Àı˛∑
Ans: 21

5. What is the number of student that study all
three subjects?
Ans: 21

ï√õ∂ùü Ú— 4–7ó ÚœÀ‰¬ı˛ Œ› ˛̊± Œˆ¬Úø‰¬ÀS øfl¬Â≈ Â±S ’±ÀÂ
˚±ı˛± Physics, Chemistry ¤ı— Mathematics ¬ÛÀh¬/

18 20 1
21

19

3

16

Physics
Chemistry

Mathematics

4. Î¬◊¬ÛÀı˛ı˛ ø‰¬SøÈ¬ ¬Ûh≥¬Ú ¤ı— ø‰¬ø˝êÓ¬ fl¬èÚ ̊ ±ı˛± Physics
¤ı— Chemistry øÚÀ ˛̊ ¬ÛÀh¬ øfl¬c Mathematics øÚÀ ˛̊ ¬ÛÀh¬
Ú±/
Ans: 20

(For Q: 4–7) Given below, a Venn diagram of
students studying Physics, Chemistry and
Mathematics :

18 20 1
21

19

3

16

Physics
Chemistry

Mathematics

4. What is the number of student who study
Physics and Chemistry, but not Mathematics?
Ans: 20

7. fl¬Ó¬ÊÚ Â±S Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ øı ∏̄̊ ˛ øÚÀ ˛̊̋ ◊ ¬ÛÀh¬∑
Ans: 22

7. How many students study one subject only?
Ans: 22
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8. øı ≈̆l ¸—‡…±øÈ¬ ø‰¬ø˝êÓ¬ fl¬èÚ/

5 11

25

55

117243

497

?

Ans: 1007

8. Fill in the blank:

5 11

25

55

117243

497

?

Ans: 1007

9. ˚ø Œfl¬±ÀÚ± ̧ ±—Àfl¬øÓ¬fl¬ ̂ ¬± ∏̄± ˛̊ LUTE-Œfl¬ Œ˘‡± ̋ ˛̊
MUTE ¤ı— GATE-Œfl¬ Œ˘‡± ˝ ˛̊ HATE, Ó¬Àı ¤ ◊̋
¸±—Àfl¬øÓ¬fl¬ ˆ¬± ∏̄± ˛̊ BLUE-Œfl¬ fl¬œ Œ˘‡± ˝Àı∑
Ans: CLUE

9. In a certain code, LUTE is written as MUTE
and GATE is written as HATE, then how would
BLUE be written in that code?
Ans: CLUE
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13. ”̇Ú…¶ö±Ú ¬Û”ı˛Ì fl¬èÚ –
C, F, I, L : ___, R, U, X

Ans: O

13. Fill in the blank :
C, F, I, L : ___, R, U, X

Ans: O

12. øı ≈̆l ıÌ«&ø˘ ‡“≈ÀÊ Œıı̨ fl¬Àı̨ ø¸øı̨ÊøÈ¬ ̧ •Û”Ì« fl¬èÚ/
BFG, HLM, NRS, ___?__

Ans: TXY

12. Fill in the blank:
BFG, HLM, NRS, ___?__

Ans: TXY

10. M : L :: ?AFI ADD ABA  

Ans: K

10. M : L :: ?AFI ADD ABA  

Ans: K

11. ˚ø ‘÷’ ̃ ±ÀÚ ‘–’, ‘–’ ̃ ±ÀÚ ‘+’, ‘×’ ̃ ±ÀÚ ‘÷’, ‘+’
˜±ÀÚ ‘×’ ˝ ˛̊, Ó¬±˝À˘ ÚœÀ‰¬ı˛ Œfl¬±Ú ¸˜œfl¬ı˛ÌøÈ¬ ¸øÍ¬fl¬∑
Ans: 35 ÷ 4 – 25 × 5 + 5 = 56

11. If ‘÷’ means ‘–’, ‘–’ means ‘+’, ‘×’ means
‘÷’, ‘+’ means ‘×’, then which one of the equations
is correct?
Ans: 35 ÷ 4 – 25 × 5 + 5 = 56



( 7 ) SOI/CDO/PWE–2019

[Please Turn Over]

14. ”̇Ú…¶ö±Ú ¬Û”ı˛Ì fl¬èÚ –
16, 28, 52, ____, 196

Ans: 100

14. Fill in the blank :
16, 28, 52, ____, 196

Ans: 100

15. ”̇Ú…¶ö±Ú ¬Û”ı˛Ì fl¬èÚ –
1, 8, ____, 64, 125

Ans: 27

15. Fill in the blank :
1, 8, ____, 64, 125

Ans: 27

16. ˚ø ‘+’ Œfl¬ Œ˘‡± ˝ ˛̊ ‘–’, ‘–’ Œfl¬ Œ˘‡± ˝ ˛̊ ‘÷’,
‘÷’ Œfl¬ Œ˘‡± ˝ ˛̊ ‘×’ ¤ı— ‘×’ Œfl¬ Œ˘‡± ˝ ˛̊ ‘+’, Ó¬Àı
100 + 60 – 6 ÷ 2 × 8 = ?
Ans: 88

16. If ‘+’ is written as ‘–’, ‘–’ is written as ‘÷’,
‘÷’ is written as ‘×’, ‘×’ is written as ‘+’, then find
the value of 100 + 60 – 6 ÷ 2 × 8 = ?
Ans: 88

17. ˚ø Œfl¬±ÀÚ± ¸±—Àfl¬øÓ¬fl¬ ˆ¬± ∏̄± ˛̊ FAN-Œfl¬ Œ˘‡± ˝ ˛̊
21, 26, 13, Ó¬Àı ¤ ◊̋ ¸±—Àfl¬øÓ¬fl¬ ˆ¬± ∏̄± ˛̊ DEAD-Œfl¬ fl¬œ
Œ˘‡± ˝Àı∑
Ans: 23, 22, 26, 23

17. In a certain code FAN is written as 21, 26,
13 then DEAD will be written as
Ans: 23, 22, 26, 23
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18. ÚœÀ‰¬ı˛ ø¸øı˛ÀÊ ≈̂¬˘ ¸—‡…±øÈ¬ fl¬œ∑
462, 422, 380, 342, 306

Ans: 422

18. Find the inappropriate number in the given
series.

462, 422, 380, 342, 306
Ans: 422

19. ·±øÌøÓ¬fl¬ ø‰¬À˝êı˛ ̧ øÍ¬fl¬ ̧ ˜±˝±ı˛ fl¬œ ̋ Àı ̊ ±ÀÓ¬ ’±˜ı˛±
* ø‰¬˝êøÈ¬ ¸øı˛À ˛̊ ¤fl¬øÈ¬ ¸øÍ¬fl¬ ¸˜œfl¬ı˛Ì ¬Û±ı∑

16 * 6 * 4 * 24
Ans: × ÷ =

19. Select the correct combination of
mathematical signs to replace * signs and to balance
the given equation.

16 * 6 * 4 * 24
Ans: × ÷ =

20. øıı˛±È¬ √õ∂ÔÀ˜ Ó¬±ı˛ ı±øh¬ı˛ 50 m øé¬ÀÌ ̊ ±Ú, Ó¬±ı˛¬Ûı˛
ı±˜øÀfl¬ 20 m ˚±Ú, Ó¬±ı˛¬Ûı˛ Î¬◊Mı˛ øÀfl¬ ‚≈Àı˛ 30 m ˚±Ú/
øıı˛±È¬ Ó¬±ı˛ ı±øh¬ ŒÔÀfl¬ Œfl¬±Ú øÀfl¬ ı˛À ˛̊ÀÂÚ∑
Ans: Î¬◊Mı˛-¬Ûø}¬˜

20. Virat went 50 m South from his house then
turned left and went 20 m then turning to North he
went 30 m. In which direction is his home from this
point?
Ans: North-West

21. ’À˙±fl¬Àfl¬ Œø‡À ˛̊ ·œÓ¬± ı˘˘, ëÓ“¬±ı˛ ˜± ˝˘ ’±˜±ı˛
ı±ı±ı˛ ¤fl¬˜±S fl¬Ú…±/í ’À˙±fl¬ ·œÓ¬±ı˛ Œfl¬ ˝Ú∑
Ans: ¬Û≈S

21. Pointing to Ashok, Gita said, “His mother is
my father’s only daughter”. How is Ashok related
to Gita?
Ans: Son
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22. Œı˜±Ú±Ú ¸—‡…± ŒÊ±h¬±øÈ¬ ‡“≈ÀÊ Œıı˛ fl¬èÚ/
Ans: 48 – 34

22. Find the odd number pair.
Ans: 48 – 34

23. ˚ø 5 × 3 = 19 ¤ı— 8 × 5 = 49 ˝ ˛̊, Ó¬±˝À˘
6 × 4 = ?
Ans: 28

23. If 5 × 3 = 19 and 8 × 5 = 49 then what is the
value of 6 × 4 = ?
Ans: 28

24. øı ≈̆l øıfl¬äøÈ¬ ‡“≈ÀÊ Œıı˛ fl¬Àı˛ ø¸øı˛ÊøÈ¬ ¸•Û”Ì«
fl¬èÚ/

1LZ, 3JV, 5HR, 7FN, ?
Ans: 9DJ

24. What will come in place of ‘?’ ?
1LZ, 3JV, 5HR, 7FN, ?

Ans: 9DJ

25. ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ Œı˜±Ú±Ú ’é¬ı˛ ¸˜ø©Ü∑
Ans: No correct answer key provided, all

candidates will be awarded full marks
irrespective of whether attempted or not.

25. Find the odd letters from the given
alternatives.
Ans: No correct answer key provided, all

candidates will be awarded full marks
irrespective of whether attempted or not.
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26. Œfl¬±ø‰¬Ú › øı˙±‡±¬ÛMÚ˜ ıjı˛ ˆ¬±ı˛Ó¬ıÀ¯«ı˛ Œfl¬±Ú
øÀfl¬ ’ıø¶öÓ¬∑
Ans: ˚Ô±SêÀ˜ ¬Ûø}¬˜ › ¬Û”ı« Ó¬È¬Àı˛‡± ıı˛±ıı˛

26. Cochin and Vishakhapatnam sea ports are
situated on
Ans: West and East coasts respectively

27. ¤fl¬˜±S Œfl¬±Ú &˝±øÈ¬ ˜˝±ı˛±À©Üò ’ıø¶öÓ¬ Ú˚˛∑
Ans: ’˜ı˛Ú±Ô

27. All of the following caves are located in

Maharashtra except

Ans: Amarnath caves

28. fl¬fl«¬È¬Sê±øôL Œı˛‡±, øÚ•ßø˘ø‡Ó¬ Œfl¬±Ú ˙˝Àı˛ı˛ Î¬◊¬Ûı˛
øÀ ˛̊ ø·À ˛̊ÀÂ∑
Ans: fl‘¬¯ûÚ·ı˛

28. Tropic of Cancer passes through which city
of West Bengal?
Ans: Krishnagar

29. ˜·Òı˛±Ê ’Ê±Ó¬˙Sn Œfl¬±Ú ı—À˙ı˛ õ∂øÓ¬øÚøÒ∑
Ans: ˝ «̊Ç¬

29. To which dynasty did king Ajatashatru of
Magadha belong?
Ans: Haryanka

30. Œ˘±ø˝Ó¬ ı˛Mêfl¬øÌfl¬± Œfl¬±Ô±˚˛ ΔÓ¬øı˛ ˝˚˛∑
Ans: ’ø¶ö̃ #±

30. The Red Blood Cells are formed in the
Ans: Bone marrow
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31. ˚fl‘¬ÀÓ¬ Œfl¬±Ú øˆ¬È¬±ø˜Ú ¬Û±›˚˛± ˚±˚˛∑
Ans: ¤

31. Which of the following vitamins is stored in
the liver?
Ans: A

32. Ò˜«õ∂ıMê± ̋ Êı˛Ó¬ ̃ ˝•úÀı˛ ÊiúøÚ Œfl¬±Ú Î¬◊»¸Àıı˛
˜±Ò…À˜ ¬Û±ø˘Ó¬ ˝˚˛∑
Ans: ˝◊-¤-ø˜˘±

32. Which of the following festivals is celebrated
as Prophet Mohammed’s birthday?
Ans: Id-E-Milad

33. 1Ê≈Ú, 2019, ˆ¬±ı˛Ó¬ ¸ı˛fl¬±Àı˛ı˛ Œfl¬±Ú ÚÓ≈¬Ú ˜LaÀfl¬ı˛
¸”‰¬Ú± ˝˚˛∑
Ans: Ê˘˙øMê

33. On 1st June 2019 the Government of India
created which new ministry?
Ans: Jal Shakti

34. ˜±Úı ˙ı˛œÀı˛ı˛ ¸ı«ı‘˝» ¢∂øLö Œfl¬±ÚøÈ¬∑
Ans: ˚fl‘¬»

34. Which is the largest gland of human body?
Ans: Liver

35. ëfl¬Ô±fl¬ø˘í Œfl¬±Ú ı˛±ÀÊ…ı˛ ÊÚøõ∂˚˛ Ú‘Ó¬…Õ˙˘œ∑
Ans: Œfl¬ı˛˘

35. Kathakali is popular dance form of which
state of India?
Ans: Kerala
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36. ›øÎ¬˙±ı˛ Œfl¬±Ú ŒÊ˘±˚˛ ı±‚±˚Ó¬œÚ, øıËøÈ¬˙ ı±ø˝Úœı˛
¸±ÀÔ Ó“¬±ı˛ ’øôL˜ ˘h¬±˝◊ ˘Àh¬Ú∑
Ans: ı±À˘ù´ı˛

36. In which district of Odisha, did the famous
encounter between Bagha Jatin and British forces
take place?
Ans: Balasore

37. Œfl¬ ø˝j≈¶ö±Ú øı˛¬Û±ıø˘fl¬±Ú ’…±À¸±ø¸À˚˛˙Ú ï˚± ¬ÛÀı˛
ø˝j≈¶ö±Ú Œ¸±¸±ø˘à¬ øı̨¬Û±ıø˘fl¬±Ú ’…±À¸±ø¸À˚̨˙Ú Ú±À˜ ¬Ûøı̨ø‰¬Ó¬
˝˚˛ó-¤ı˛ õ∂øÓ¬á¬± fl¬Àı˛Ú∑
Ans: ˙‰¬œfÚ±Ô ¸…±Ú±˘

37. Who founded the Hindustan Republican
Association which later became Hindustan Socialist
Republican Association?
Ans: Sachindra Nath Sanyal

38. ¸•xøÓ¬ Œfl¬±Ô±˚˛ NAM ’ôLˆ«≈¬Mê ŒÀ˙ı˛ õ∂Ò±ÚÀı˛
18 Ó¬˜ ˙œ¯« ΔıÍ¬fl¬ ’Ú≈øá¬Ó¬ ˝˚˛∑
Ans: ı±fl≈¬¬, ’±ÀÊı˛ı±˝◊Ê±Ú

38. Where was the 18th Summit of Heads of
States and Governments of NAM held?
Ans: Baku, Azerbaijan

39. Œfl¬±Ú ŒÀ˙ı˛ Î¬◊¬Ûı˛ Ê± «̃±øÚı˛ ’±Sê˜Ì øZÓ¬œ ˛̊ øıù´ ≈̊ÀX¬ı˛
¸”‰¬Ú± fl¬Àı˛∑
Ans: Œ¬Û±˘…±`¬

39. Attack on which country by Germany
marked the inception of the Second World War?
Ans: Poland

40. Ó≈¬À˘±ı˛ Ó¬c fl¬œ øÀ˚˛ ΔÓ¬øı˛∑
Ans: Œ¸ ≈̆À˘±Ê

40. Cotton fibres are made of
Ans: Cellulose
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41. ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ DNA-ŒÓ¬ ŒÚ˝◊∑
Ans: ˝◊Î¬◊ı˛±ø¸˘

41. Which of the following is not a constituent
of DNA?
Ans: Uracil

42. ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ ¬Ûø}¬˜ øÀfl¬ õ∂ı±ø˝Ó¬ Úœ∑
Ans: Ú˜«±

42. Which one of the following is a west-flowing
river?
Ans: Narmada

43. ÚœÀ‰¬ı˛ Œfl¬±Ú ˝◊Î¬◊Àı˛±ø¬Û› ¬Û˚«È¬fl¬ ˆ¬±ı˛Ó¬ıÀ¯« ŒÔÀfl¬
˚±Ú∑
Ans: ˜±Ú≈øB‰¬

43. Who among the following European
travelers settled down in India?
Ans: Manucci

44. õ∂Ô˜ Œ˙œ˚̨ √õ∂ ≈̊øMêÀÓ¬ øÚø «̃Ó¬ Aircraft Carrier-¤ı̨
Ú±˜ fl¬œ∑
Ans: øıSê±ôL

44. What is India's first indigenous Aircraft
Carrier called?
Ans: Vikrant

45. 2020 ŒÈ¬±øfl¬À˚˛± ’ø˘ø•ÛÀfl¬ı˛ ̧ ı˛fl¬±øı˛ ̃ …±¸fl¬È¬ fl¬œ∑
Ans: ø˜ı˛± ◊̋ÀÓ¬±˚˛±

45. Which one of the following is the Official
Mascot of Tokyo 2020 Olympic Games?
Ans: Miraitowa
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46. ŒÙ¬±È«¬ Î¬◊˝◊ø˘˚˛±˜ fl¬À˘Ê Œfl¬±Ú ·ˆ¬Ú«ı˛ ŒÊÚ±Àı˛˘-¤ı˛
’±˜À˘ ΔÓ¬øı˛ ˝˚˛∑
Ans: øı˛‰¬±Î«¬ ›À˚˛À˘¸ø˘

46. The College of Fort William was
established by which one of the following Governor
Generals?
Ans: Richard Wellesley

47. Œ˜ÀC± Œı˛˘›À˚˛ ŒÊ±Ú-¤ı˛ ¸ı˛lı˛ Œfl¬±Ú ˙˝Àı˛
’ıø¶öÓ¬∑
Ans: Œfl¬±˘fl¬±Ó¬±

47. The Headquarters of Metro Railway Zone
is located in
Ans: Kolkata

48. ÚœÀ‰¬ı˛ Œfl¬±Ú ˆ¬±ı˛Ó¬œ˚˛ øSêÀfl¬È¬±ı˛-¤ı˛ Ú±˜ ‘ICC
øSêÀfl¬È¬ ˝˘ ’Ù¬ ŒÙ¬˜í-¤ ŒÚ˝◊∑
Ans: Œ¸Ãı˛ˆ¬ ·±º≈ø˘

48. Name the Indian Cricketer who is not
included in the ‘ICC Cricket Hall of Fame’?
Ans: Sourav Ganguly

49. ıÓ«¬˜±ÀÚ Œfl¬±Ú ø˙é¬± õ∂øÓ¬á¬±ÀÚı˛ ¸Àº õ∂ÀÙ¬¸ı˛
’øˆ¬øÊ» ıÀj…±¬Û±Ò…±˚˛ ≈̊Mê ı˛À˚˛ÀÂÚ∑
Ans: Massachusetts Institute of Technology

49. To which educational institution is Prof.
Abhijit Banerjee currently associated with?
Ans: Massachusetts Institute of Technology

50. ıÂÀı˛ı˛ Œfl¬±Ú øÚøÈ¬ Armed Forces Flag Day
ø˝¸±Àı ¬Û±ø˘Ó¬ ˝˚˛∑
Ans: 7 øÎ¬À¸•§ı˛

50. Which day is celebrated as the Armed Forces
Flag Day?
Ans: 7th December
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51. õ∂Ô˜ ˆ¬±ı˛Ó¬œ˚˛ ICS ’øÙ¬¸±ı˛ Œfl¬∑
Ans: ¸ÀÓ¬…fÚ±Ô Í¬±fl≈¬ı˛

51. Who was the first Indian ICS Officer?
Ans: Satyendra Nath Tagore

52. Œfl¬±Ú ˆ¬±ı˛Ó¬œ˚˛ õ∂Ô˜ı±ı˛ õ∂Ô˜ Œ|øÌı˛ øSêÀfl¬ÀÈ¬,
¤fl¬øÈ¬ ›ˆ¬±Àı˛ı˛ ÂÈ¬± ıÀ˘˝◊ Â!¬± ˝“±fl¬±Ú∑
Ans: ı˛øı ˙±¶aœ

52. Which Indian batsman was the first to hit six
consecutive sixes in six balls of an over in First-
Class Cricket?
Ans: Ravi Shastri

53. ÚœÀ‰¬ı˛ Œfl¬±Ú ˆ¬±ı˛Ó¬œ˚˛ ˙˝ı˛ Œfl¬±ÀÚ± Úœı˛ Ó¬œÀı˛
’ıø¶öÓ¬  Ú˚˛∑
Ans: Œˆ¬±¬Û±˘

53. Which one of the following Indian cities is
not located on a river bank?
Ans: Bhopal

54. ÚœÀ‰¬ı˛ Œfl¬±Ú ÚœøÈ¬ Ú±˜‰¬±ı±ı˛›˚˛±ÀÓ¬ Î¬◊Àå¬±
(U-’±fl‘¬øÓ¬) ı“±fl¬ øÚÀ˚˛ ˆ¬±ı˛ÀÓ¬ õ∂Àı˙ fl¬Àı˛∑
Ans: ıËp¬Û≈S

54. Which one of the following rivers takes a
‘U’ turn at Numcha Barwa and enters India?
Ans: Brahmaputra

55. NCC-ı˛ ÚœøÓ¬ı±fl¬…øÈ¬ fl¬œ∑
Ans: Unity and Discipline

55. Which one of the following is the Motto of
NCC?
Ans: Unity and Discipline
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56. ’±j±˜±Ú › øÚÀfl¬±ıı˛ Zœ¬Û¬Û≈À?ı˛ Œfl¬±Ú Zœ¬ÛøÈ¬ı˛ Ú±˜
¬Ûøı˛ıÓ«¬Ú fl¬Àı˛ ŒÚÓ¬±øÊ ¸≈ˆ¬±¯‰¬f ı¸≈ Zœ¬Û ı˛±‡± ˝À˚˛ÀÂ∑
Ans: ı˛¸ Zœ¬Û

56. Which island of the Andaman & Nicobar
archipelago is renamed as Netaji Subhas Chandra
Bose Dweep ?
Ans: The Ross Island

57. Œfl¬±Ú ̂ ¬±ı˛Ó¬œ˚˛ ̇ ˝Àı˛ı˛ Ú±˜ 2019 ̧ ±À˘ UNESCO
World Heritage Site Ó¬±ø˘fl¬±˚˛ õ∂Àı˙ fl¬Àı˛ÀÂ∑
Ans: Ê˚˛¬Û≈ı˛

57. Which Indian city made its entry in to the
UNESCO World Heritage Site list in 2019?
Ans: Jaipur

58. Œfl¬±Ú ·…±¸ ¢∂œÚ ˝±Î¬◊¸ ¤ÀÙ¬À" ˜≈‡… ˆ”¬ø˜fl¬± ¬Û±˘Ú
fl¬Àı˛∑
Ans: Ê˘œ ˛̊ ı±©Û

58. Which gas plays the main role in the Green
House Effect?
Ans: Water Vapour

59. øıqX¬ ÊÀ˘ı˛ pH ˜±Ú fl¬Ó¬∑
Ans: 7

59. What is pH value of pure water?
Ans: 7

60. http-ı˛ ¬Û≈Àı˛± ’Ô« fl¬œ∑
Ans: Hyper Text Transfer Protocol

60. What is the full form of http?
Ans: Hyper Text Transfer Protocol
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61. ˆ¬±ı˛Ó¬˜±Ó¬±ı˛ Âøı Œfl¬ ’Ç¬Ú fl¬Àı˛Ú∑
Ans: ’ıÚœfÚ±Ô Í¬±fl≈¬ı˛

61. Who painted the picture of Bharatmata?
Ans: Abanindranath Tagore

62. Œfl¬±Ú Ê±˚˛·±˚˛ ˜±Ó¬øºÚœ ˝±Êı˛± ˆ¬±ı˛Ó¬ Â±Àh¬±
’±Àj±˘ÀÚ ’—˙ ŒÚÚ∑
Ans: Ó¬˜˘≈fl¬

62. Matangini Hazra was associated with the
Quit India movement at
Ans: Tamluk

63. ˆ¬±ı˛Ó¬œ˚˛ ¸—øıÒ±ÀÚı˛ Œfl¬±Ú ¬ÛÀı« Œ˜Ãø˘fl¬ ’øÒfl¬±ı˛
ı˛À ˛̊ÀÂ∑
Ans: ¬Ûı«-III

63. In which Part of the Constitution of India
can we find the Fundamental Rights?
Ans: Part-III

64. ˆ¬±ı˛Ó¬œ˚˛ ¸—øıÒ±Ú fl¬Ó¬&ø˘ Ó¬Ù¬ø¸˘-¤ øıˆ¬Mê∑
Ans: 12

64. How many Schedules are contained in the
Constitution of India?
Ans: 12 Schedules

65. øıËøÈ¬˙ ¬Û±˘«±À˜KÈ¬ Œfl¬±Ú Ó¬±øı˛À‡ ̋ ◊ø`¬˚˛± ̋ ◊ø`¬À¬ÛÚÀÎ¬k
’…±" ¬Û±¸ fl¬Àı˛∑
Ans: 18 Ê≈̆ ± ◊̋, 1947

65. India Independence Act, was passed by the
British Parliament on
Ans: 18th July, 1947
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66. ˆ¬±ı˛ÀÓ¬ı˛ Œõ∂ø¸ÀÎ¬KÈ¬ ı˛±Ê…¸ˆ¬±˚˛ fl¬Ó¬ÊÚÀfl¬ ̃ ÀÚ±ÚœÓ¬
fl¬ı˛ÀÓ¬ ¬Û±Àı˛Ú∑
Ans: 12

66. How many members can be nominated to
the Rajya Sabha by the President of India?
Ans: 12

67. ¢∂œÉfl¬±À˘ Î¬◊Mı˛ ˆ¬±ı˛ÀÓ¬ı˛ ¸˜Ó¬À˘ Œ˚ ¶ö±Úœ˚˛ ˝±›˚˛±
ı˚˛ Ó¬±ı˛ Ú±˜ fl¬œ∑
Ans: ≈̆

67. What is the local name of the wind blowing
in the northern plains during summers?
Ans: Loo

68. øÈ¬ øˆ¬ øı˛À˜±È¬ fl¬ÀKC±˘-¤ Œfl¬±Ú Ó¬ı˛º ı…ı˝+Ó¬ ˝˚˛∑
Ans: ˝◊ÚÙË¬±Àı˛Î¬ Ó¬ı˛º

68. Which one of the following waves are used
by the common TV remote control?
Ans: Infrared waves

69. ˙Àsı˛ õ∂øÓ¬ÒTøÚı˛ fl¬±ı˛Ì fl¬œ∑
Ans: ˙Àsı˛ õ∂øÓ¬Ù¬˘Ú

69. Which of the following is the cause of
echo?
Ans: When sound is reflected

70. ¸±Ò±ı˛Ì ’ı¶ö±˚˛ ÚœÀ‰¬ı˛ Œfl¬±Ú Ò±Ó≈¬øÈ¬ Ó¬ı˛˘∑
Ans: ¬Û±ı˛

70. Which metal remains in liquid form under
normal conditions?
Ans: Mercury
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71. ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ ¸±Ò±ı˛Ì ˘ıÀÌı˛ Î¬◊»¸∑
Ans: Œ˝˘± ◊̋È¬

71. Which of the following is the source of
common salt?
Ans: Halite

72. ˙ıøı˛˜±˘± ˜øjı˛ ˆ¬±ı˛ÀÓ¬ı˛ Œfl¬±Ú ı˛±ÀÊ… ’ıø¶öÓ¬∑
Ans: Œfl¬ı˛˘

72. In which state of India is the Sabarimala
Temple located?
Ans: Kerala

73. ‰¬œÀÚı˛ Œfl¬±Ú õ∂À˙ fl¬Àı˛±Ú± ˆ¬±˝◊ı˛±¸ Z±ı˛± ¸ı«±øÒfl¬
’±Sê±ôL∑≈
Ans: UÀı ◊̋

73. Which province of China has been worst hit
by Corona virus?
Ans: Hubei

74. øı·Ó¬ 31.01.2020-ŒÓ¬ Œfl¬±Ú &èQ¬Û”Ì« ’±ôLÊ«±øÓ¬fl¬
‚È¬Ú± ‚ÀÈ¬∑
Ans: ŒıËø'È¬

74. On 31.01.2020, which important
International Event occurred?
Ans: BREXIT

75. ë˝±ø¸ı˛ ’±À˘±í fl¬œ∑
Ans: ¬Ûø}¬˜ıº ̧ ı˛fl¬±Àı˛ı˛ ·øı˛ı ̃ ±Ú≈À¯ı˛ ÊÚ… øıÚ±˜”À˘…

øı≈…» õ∂±Ú õ∂fl¬ä/

75. What is HASIR ALO?
Ans: Free Electricity Scheme for poor people of

West Bengal.
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76. ·±øh¬ A-ı˛ ·øÓ¬ 19 m/s, ·±øh¬ B-ı˛ ·øÓ¬ 20 m/s/
1 km Œı˛À¸ B fl¬Ó¬ ø˜È¬±ı˛ ı…ıÒ±ÀÚ A-Œfl¬ ˝±ı˛±Àı∑
Ans: 50 m

76. Car A runs 19 m while car B runs 20 m in a
second. In 1 km race, car B beats car A by
Ans: 50 m

77. ≈øÈ¬ ¸—‡…±ı˛ ¸˜ø©Ü 25 ¤ı— øıÀ˚˛±·Ù¬˘ 13, ¸—‡…±
≈øÈ¬ı˛ &ÌÙ¬˘ fl¬Ó¬∑
Ans: 114

77. The sum of two numbers is 25 and their
difference is 13. Find their product.
Ans: 114

78. ˚ø Sê˚˛˜”˘… ’±ı˛ øıSê˚˛˜”À˘…ı˛ ’Ú≈¬Û±Ó¬ 4 : 5 ˝˚˛,
Ó¬Àı fl¬Ó¬ ˙Ó¬±—˙ ˘±ˆ¬ ˝˚˛∑
Ans: 25%

78. The ratio of the cost price and selling price
is 4 : 5, then  profit per cent is
Ans: 25%

79. ≈øÈ¬ Œ·±˘Àfl¬ı˛ ’±˚˛Ó¬ÀÚı˛ ’Ú≈¬Û±Ó¬ 64 : 27, Ó¬Àı
Ó¬±Àı˛ Œé¬SÙ¬À˘ı˛ ’Ú≈¬Û±Ó¬ fl¬Ó¬∑
Ans: 16 : 9

79. The volume of two spheres are in the ratio
64 : 27, then the ratio of their surface areas is
Ans: 16 : 9

80. ¤fl¬øÈ¬ ̇ ˝Àı̨ı̨ ÊÚ¸—‡…± 9000, ̊ ø ¬Û≈èÀ¯ı̨ ÊÚ¸—‡…±
ı‘øX¬ 8% ¤ı— ̃ ø˝˘±ı˛ ÊÚ¸—‡…± ı‘øX¬ 5% ̋ ˚˛, Ó¬±˝À˘ ıøÒ«Ó¬
ÊÚ¸—‡…± 9600/ ÊÚ¸—‡…± ı‘øX¬ı˛ ¬Û”Àı« ˙˝Àı˛ı˛ ¬Û≈èÀ¯ı˛
¸—‡…± øÂ˘
Ans: 5000

80. Population of a town is 9000. If the males
increase by 8% and the females increase by 5%, the
population will be 9600. Then the number of males
of the town initially was
Ans: 5000
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81. ≈øÈ¬ ¸—‡…±ı˛ ’Ú≈¬Û±Ó¬ 3 : 4 ¤ı— Ó¬±Àı˛ ıÀ·«ı˛
Œ˚±·Ù¬˘ 900, Ó¬Àı ¸—‡…± ≈øÈ¬ ˝˚˛
Ans: 18, 24

81. The ratio of two numbers is 3 : 4 and sum
of their squares is 900, then the numbers are
Ans: 18, 24

82. ¤fl¬øÈ¬ 42·5 ø˜È¬±ı˛ ˘•§± ı˛Î¬ ŒÔÀfl¬ 85 Œ¸ø˜
˘•§± fl¬Ó¬&ø˘ È≈¬fl¬Àı˛± ¬Û±›˚˛± ˚±Àı∑
Ans: 50

82. How many pieces of 85 cm length can be cut
from a 42·5 m long rod?
Ans: 50

83. 21øÈ¬ ı±˘Àfl¬ı˛ ·h¬ ›ÊÚ 64 Œfl¬øÊ, ¤ı˛ ¸Àº
ø˙é¬Àfl¬ı˛ ›ÊÚ Œ˚±· fl¬ı˛± ̋ À˘ ·h¬ ›ÊÚ 1 Œfl¬øÊ ŒıÀh¬ ̊ ±˚˛/
ø˙é¬Àfl¬ı˛ ›ÊÚ fl¬Ó¬∑
Ans: 86 Œfl¬øÊ

83. The average weight of 21 boys was recorded
as 64 kgs. If the weight of the teacher  was added,
the average increased by 1 kg. What was the
teacher’s weight?
Ans: 86 kgs

84. 18,440 È¬±fl¬±ı˛ ›¬Ûı˛ ıÂÀı˛ 15% ˝±Àı˛ 4 ıÂÀı˛ı˛
¸ı˛˘ ¸≈ fl¬Ó¬∑
Ans: 11,064 È¬±fl¬±

84. What would be the simple interest accrued
in 4 years on a principal of ` 18,440 at 15% per
annum?
Ans: ` 11,064

85. ’øÚÀ˘ı˛ ıÓ«¬˜±Ú ı˚˛¸ ¬Û≈ı˛øıı˛ ıÓ«¬˜±Ú ı˚˛À¸ı˛
Œh¬&Ì, 8 ıÂı˛ ı±À Ó¬±Àı˛ ı˚˛À¸ı˛ ’Ú≈¬Û±Ó¬ ̋ Àı 25 : 18/
¬Û≈ı˛øıı˛ ıÓ«¬˜±Ú ı˚˛¸ fl¬Ó¬∑
Ans: 28 ıÂı˛

85. At present Anil is 1·5 times Puravi’s age.
8 years hence, the respective ratio between Anil
and Puravi’s ages then will be 25 : 18. What is
Puravi’s present age?
Ans: 28 years
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86. ¤fl¬øÈ¬ 280 ø˜È¬±ı˛ ˘•§± ŒCÚ Ó¬±ı˛ øÓ¬Ú&Ì ˘•§±
õ≠…±È¬Ù¬˜« 6 ø˜øÚÈ¬ 40 Œ¸Àfl¬`¬-¤ ’øÓ¬Sê˜ fl¬Àı˛/ ŒCÚøÈ¬ı˛
·øÓ¬Àı· fl¬Ó¬∑
Ans: 2·8 ø˜.ìŒ¸.

86. A 280 m long train crosses a platform thrice
its length in 6 minutes 40 seconds. What is the
speed of the train?
Ans: 2·8 m/s

87. 882 ı·«À¸ø˜ Œé¬SÙ¬˘øıø˙©Ü ¤fl¬øÈ¬ ı·«Àé¬ÀSı˛
fl¬ÀÌ«ı˛ Δ‚«… fl¬Ó¬∑
Ans: 42 Œ¸ø˜

87. What would be the measure of the diagonal
of a square whose area is equal  to 882 sq. cm.?
Ans: 42 cm.

88. ¸≈ˆ¬±¯ 10 ‚∞È¬±˚˛ 50 ¬Û±Ó¬± ø˘‡ÀÓ¬ ¬Û±Àı˛Ä ̧ ≈ˆ¬±¯ ¤ı—
õ∂fl¬±˙ 40 ‚∞È¬± ˛̊ 300 ¬Û±Ó¬± ø˘‡ÀÓ¬ ¬Û±Àı˛/ Ó¬±˝À˘ õ∂fl¬±˙
¤fl¬± 30 ¬Û±Ó¬± fl¬Ó¬ ¸˜À˚˛ ø˘‡Àı∑
Ans: 12 ‚∞È¬±˚˛

88. Subhash can copy 50 pages in 10 hours;
Subhash and Prakash can copy 300 pages in
40 hours. In how much time can Prakash copy
30 pages?
Ans: 12 hours

89. ˚ø   1 1, ( 0),x x
x

 Ó¬Àı  
 

2

2
( 3 1)

( 7 1)

x x

x x
-¤ı˛

˜±Ú fl¬Ó¬∑

Ans: ½

89. If   1 1, ( 0),x x
x

then the value of

 
 

2

2
( 3 1)

( 7 1)

x x

x x
 is

Ans: ½

90. sin + cos-¤ı˛ ˜±Ú ˝˘
ï Œ˚ Œfl¬±ÀÚ± ¸”ÑÀfl¬±Ìó

Ans: 1-¤ı˛ Œ‰¬À˚˛ ıÀh¬±

90. Value of sin + cos is
(where is an acute angle)

Ans: Greater than 1
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91. ¤fl¬øÈ¬ ≈̧̄ ˜ ¯h¬ ≈̂¬ÀÊı˛ ’ôL–Àfl¬±ÀÌı˛ ˜±¬Û fl¬Ó¬∑
Ans: 120°

91. What is the measure of internal angle of a
regular hexagon?
Ans: 120°

92. ¤fl¬øÈ¬ ¸˜Àfl¬±Ìœ ¸˜øZı±U øS ≈̂¬ÀÊı˛ Œfl¬±Ì&ø˘ ˝˘
Ans: 90°, 45° ¤ı— 45°

92. What are angles of an isosceles right angle
triangle?
Ans: 90°, 45° and 45°

93. ¤fl¬øÈ¬ ¸˜Àfl¬±Ìœ ¸˜øZı±U øS ≈̂¬ÀÊı˛ Œé¬ÀS tan-ı˛
˜±Ú fl¬Ó¬ ï Î¬◊Mê øS ≈̂¬ÀÊı˛ ¤fl¬øÈ¬ ¸”ÑÀfl¬±Ìó∑
Ans: 1

93. What is the value of tanfor an isosceles
right angle triangle (where is an acute angle of the
given triangle)?
Ans: 1

94. x1, x2, ........, x10 ı˛±ø˙&ø˘ı˛ ·h¬ 20 ̋ À˘, (x1 + 4),
(x2 +4), ......., (x10 + 4) ı˛±ø˙&ø˘ı˛ ·h¬ fl¬Ó¬ ˝Àı∑
Ans: 24

94. The mean of the data x1, x2, ........, x10 is 20.
Then mean of (x1 + 4), (x2 +4), ......., (x10 + 4) is
Ans: 24

95. ¤fl¬ ı…øMê 3,680 È¬±fl¬± øÀ˚˛ ¤fl¬øÈ¬ Œı˛øÎ¬› øfl¬ÀÚ
3,956 È¬±fl¬±˚˛ Œ¸øÈ¬ øıSê˚˛ fl¬Àı˛Ú/ Ó“¬±ı˛ ˙Ó¬fl¬ı˛± ˘±ˆ¬ fl¬Ó¬∑
Ans: 7·5%

95. A man buys a Radio for ̀  3,680 and sells it
at ` 3,956. What is his gain %?
Ans: 7·5%
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96. Œfl¬±Ú ̃ ”˘ÒÚ ı±ø¯«fl¬ 5% ̧ ı˛˘ ̧ ≈À, ̃ ±ø¸fl¬ ¤fl¬ È¬±fl¬±
ï` 1ó ≈̧ ŒÀı∑
Ans: 240 È¬±fl¬±

96. What sum of money gives ̀  1 per month as
interest at 5% Simple Interest?
Ans: ` 240

97. ˚ø   13p q  ¤ı—   5p q  ̋ ˛̊, Ó¬Àı pq = ?

Ans: 2

97. If   13p q  and   5p q , then value of
pq = ?
Ans: 2

98. ¤fl¬øÈ¬ ˘•§ı‘M±fl¬±ı˛ Œ‰¬±À„ı˛ fl¬Ó¬&ø˘ Ó¬˘ ˝˚˛∑
Ans: 3

98. Number of surfaces of a solid right circular
cylinder is
Ans: 3

99. ABCD ¤fl¬øÈ¬ ı‘M¶ö ‰¬Ó≈¬ˆ«≈¬Ê/ ̊ ø Œfl¬±Ì A 65° ̋ ˚˛,
Ó¬Àı Œfl¬±Ì C fl¬Ó¬∑
Ans: 115°

99. ABCD is cyclic quadrilateral. If angle A is
65°, what will be angle C ?
Ans: 115°

100. Œfl¬±ÀÚ± ’—˙œ±øı˛ ı…±ı¸±ÀÓ¬ ≈̋ ◊ ıg≈¬ı˛ õ∂±l ̆ ˆ¬…±—À˙ı˛
’Ú≈¬Û±Ó¬ 1 1:

2 3
 ˝À˘, Ó¬±Àı˛ ˜”˘ÒÀÚı˛ ’Ú≈¬Û±Ó¬ fl¬Ó¬ ˝Àı∑

Ans: 3 : 2

100. In a partnership business, the ratio of share
of profit of two partners is 1 1:

2 3
, then ratio of their

principals is

Ans: 3 : 2


